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1. |x+5| =10 «338
1. If [x+5| 210 then

(A) xe (-15,5]
(A) x€ (-15,5]

(B) xe€ (-5,5]
B -5
(B) xe (-5,5] (C) x€ (-0, —15] U [5, )
(C) x€ (=, —15] U [5, <) (D) x€ [-e,—15] U [5, =)

(D) x€ [-¢,~15] U [5, «)

2. wom> $eBRLISR BIcdey, Fscn

2. Everybody in a room shakes hands with
J Rodnw F47 BIeoPRIR VAT, 2t

everybody else. The total .number of

handshakes is 45. The total number of BIRPING #oa;} 45 =838 &
persons in the room is : BRBRODAOTOT 2,633 afa.aﬁ«a! 03,0320
el o .
(A) 9 A) 9
(B) 10 (B) 10
(C) 5 (C) 5
(D) 15 (D) 15

3. The constant term in the expansion of

1 16 9 1 1o =08 =
[x2ﬁ_) is 8. [x°-—=| I OmUBY g I3
2 X
i (t:sci!asa x&)d ﬁcﬂ) )
(A) °C
B &) 8¢,
16
© ¢, © ¢,
D) °Cy, D) ¢y,
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. Gk 2n
4. If P(n): “2%® _ 1 is divisible by k for all | % P@ : 27 -1 k Q08 yh3om-3s
n € N” is true, then the value of k’ is Vne N 8 Zevd aumﬁ%ﬂ & ob S
(A) 6 (A) 6
B
B) 3 8
Cc 7
(C) 7
D) 2
(D) 2
. k. =
5. The equation of the line parallel to the B. 3x-4dy+2=0 Tesdrl ”mmosmﬁd&
line 3x — 4y + 2 = 0 and passing through DFY (-2, 3) VORI TWROF Tt
(=2,3)is Brerds FoTBes300 B0eFTeD)
(A) 3x-4y+18=0 (A) 8x—-4y+18=0
(B) 3x-4y-18=0 (B) 3x-4y-18=0
(C) 8x+4y+18=0 (C) 3x+4y+18=0
(D) 3x+4y-18=0 ) das4y=1ssh
6 If Tl b then (a, b) i .- 499
’ p B e i i 6. [EJ = ﬂ+lbﬂdﬁ-(ﬂ,b)323ej
(A) (1,1) (A (1,1
B (1,0 (B) (1,0
(D) (0,-1)
(D) (0,-1)
Space for Rough Work / 2.0t 3038 X9
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7. The distance between the foci of a|7. o JJoWeRE VNG IR
hyperbola is 16 and its eccentricity is v2. 9030y 16 ) &T3 evdeorE
Its equation is o B 5 SocHe ¥
SNTT, ST BB
2 -
(A) x%-y?=32 ) 220
2 2 2 2
B) = -L < x ¥
(B) 1 5 1 (B) : 5 1
2 =
©) 2x®—3y%=1 C) 2x*-3y°=17
D) y*-x%=32
D) y*-x2=82
8. 5 TN R 3 sz'i)ridaigt 20T
8. The number of ways in which 5 girls and mgd@m BROTITNG  cdnRBe TR
3 boys can be seated in a row so that no BORONT L&.Ejﬁ Q0T03 wﬁddat
ED boveaze toRtes e 8ROZBETTR tt3 DFNY Fosd,
(A) 14040 (A) 14040
(B) 14440 (B) 14440
(C) 14000 (C) 14000
(D) 14400 RO 100
9. a, b, cneb AP 03poT89 3=omon W
9. If a, b, ¢ are three consecutive terms pRloles wdﬁ%hd% MR x, y, z N GP
of an AP and x, y, z are three CRoDTY,  FaowoN  WAT  Fwdd
consecutive terms of a GP, then the value e oL yi=A_shn b o3s3033
of xP~¢, y*—2, za-b jg _ =
A o (A) 0
(B) xyz (B) xyz
S ©). -1
D) 1 O 1
Space for Rough Work / 2,88 #Oﬁ% 2}5’
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10. The value of lim [x] is 10. lim Ix) 903 3
x—0 X . x=0 X
A) 1 A 1
(B) -1 B) -1
C) 0
C o
(D) SRIBQROY
(D) Does not exist
11. fx)=x- ~ SBSf'(~1) o0
X
11, Let fx)=x— - then f'(-1)is
. (A) ©
A 0 B) 2
B) 2 ) 1
) 1 )
D) -2 12. “72 »ow RoBodo 2 DR 3 doB
FONIOBIFT.” BePFOD FTT)
12. The negation of the statement “72 is (A) 72 0w Rosdodo 2 0oB
divisible by 2 and 3” is @hﬁ@ﬁ)@&g OB T2 Q0W
) _ )
(A) 72 is not divisible by 2 or 72 is not R085,0300 3 00T PNIVBROL,
divisible by 3 (B) 72 Q0W ﬁo@%m 2 2o’
(B) 72 is divisible by 2 or 72 is divisibl @Dﬁfaﬁgﬁ)gd OREs § 8 P
5 ;s divisible by 2 or 72 is divisible ﬁo&%m e ——
| (C) 72 0w Rooto 2 00w
(©) 7.2-'1'5- divisible by 2 and 72 is : mﬁﬁ%®§5m72 2 m’o&%m
divisible by 3 3 Bori 1 ﬁ?ﬂ% o 23, 3
(D) 72 is not divisible by 2 and 3 (D) 72 0w Rofod0 2 =03 3 0o
NRORBOR),
Space for Rough Work / %880 Gﬂﬁi"%‘fﬁ '
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13. The probability of happening of an event

14.

15.

A is 0-5 and that of B is 0-3. If A and B
are mutually exclusive events, then the
probability of neither A nor B is

(A) 04

(B) 05

©) 02

D) 09

In a simultaneous throw of a pair of dice,
the probability of getting a total more
than 7 is

(A) %
(B) %
© =
(D) gg

If A and B are mutually exclusive events,

given that P(A) = %, P{B) = %, then

13.

14.

15.

PUT A 030 T0PIIeoDB 0-5 ) eI
B 0% Rog@ecddd 0-3 Ny, A 33 B
RIS@e OIS TTIFT PuSRENGS.
A 3p 893, B 36 6083 303389033050

(A)
(B)
©)
(D)

0-4
0-5
0-2
0-9

DTROTY, DTB> TIRIR), DN,
TMOBE W BRIF) 7 308 el

TRTODWIRITT J0yme03d3030

@

(B) %

© =

D) %

PA) = 2, PB) = 3 oGy A D% B

TCIC  IRBUBE  PUIND oSN,

P(A or B) is P(A 35355 B) & e3e3o30
(A) 08 (A) 0-8
(B) 06 B) 06
(C) 04 (C) 04
D) 02 (D) 0-2
Space for Rough Work / 2,88 ﬁoﬁﬁ s
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16. Let f, g: R —> R be two functions [16. @@ x € R A9R, f, g : R - R ow
getined, a8 AP =.{xl 4 x . and 20R> VTR fx) = x| + x T
g(x) = |x| —x V x € R. Then (fog) (x) for = | ”

g(x) = |x] - x Q0T DATRVATN X < 0

x<0is :
(A) 0 non (fog) (x) 00T
G A) 0
(O —4x (B) 4x
(D) 2x | (C) -4x
D) 2x

17. Als aset having 6 distinct elements. The | 17 ) 4 5005035 1368 23¢3 6 REsooBngad

number of distinct functions from A to A
which are not bijections is BRoDT. A 0or A 1t eeIedFeRNRROs

(A) 6!-6 w3es 23eT wﬁﬁrﬁi ﬁoajﬁ
B) 6°-6 | @A) 61-6
(©) 6°—s! (B) 6°-6
(D) 6! () 6°-6!
| (D) 6!
18. Let f: R —» R be defined by 2 .
2x x>3
18. f:RS> R flx) = {x? e ] e
flx) = {x2 4 1<x<3 3
3x s 3 |
g o sl 20T TWAMINGEH, f-1) + A2) + K4) 3
Then fi-1) + 2) + f(4) is 23e3030
i A A) 9
(B) 14 ®) 14
(€. 5 (C) 5
D) 10 (D) 10

Space for Rough Work / W80 ivﬁi %@3

Maths (7 - A)

gcollegeduniaa

T



19. If sin!x +cos™} y= i , then 19. sin !x+cos! ¥ % SN3T,
D4 i - . B “
cos Tx+sinly is o cos 'x+sinly S 3303w
2n 3n . 2 3n
A — —_— fiohs3
(A) = (B) = (A) - (B) =
41 3n 4n 3n
o =22 2 ki o
(C) = (D) 10 (C) z (D) 0
20. The value of the expression 9
— _1 =
tan(—;- 55 :%J ) 20. tan[2 cos JEJ 8 3¢
A 2-45
() 2-4b
B) V5 -2 B) J5 -2
J5 -2 v5-2
(©) S © 5
D) 5-2 D), 5-+2
2 -2 y Ml
= n _
R = e &7 = 274, 21.A=[ Junci)A“=2kAEﬁcdd
-2 2 _9 9 @
where k = k=
- =
(A)' 2“ (A.) 211—1
(B) n+1 B) n+l
C -1
e © n-1
D) 2n-1)
(D) 2(n-1)

Space for Rough Work / 2.0t $0xg 2
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22. If [ : 1:| [K] - [2], then the values

1 1f|y| |4

of x and y respectively are

(A) — 3; . 1
cos o sin o
B LA [—sin o Ccoso

A) A

(B) Zero matrix
© A

(D) 1

24. If x, y, z € R, then the value of

determinant

],thenAA’=

= 1 ] e wn e

24.

4
B3SnH Bowen

A -3,-1

B) 1,3

©) 3,1

(D) -1,3

A= [ 08, .4 “] TS AA
- 8in o Cos

(A) A

(B) ZnJ, 33

©c A
D) I

X, v,z € R soon

(51‘. 3 5—1 )2 (51 . 5—1 )2 1 (5]{ + 5—1 )2 (5;: 0 5—! )2 l
(6167 %) (6 =621 . 1|08 6*+67%)2 (6*-6%)2 1|33
il e o L s T +7%)2 X752 1
(A) 10 (A) 10
(B) 12 (B) 12
<€ 1 © 1
M) 0 D) 0
Space for Rough Work / 0D !-9251 b
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256. The value of determinant
a-b b+c a

b-a e¢+a b
c—-a a+b e

is
a® +b° + 3

3abe

a% + b3 + ¢® - 3abe

a3+b3+c3+3abc

(A)
(B)

(C)
(D)

26. If (x4, yy), (x5, y5) and (x4, yg) are the

vertices of a triangle whose area is &’

X} V1 4
square units, then [xo yo 4| is
Fgoiyg 4
(A) 32k2
(B) 16 k?
(C) 64Kk°
(D) 48k?

27. Let A be a square matrix of order 3 x 3,

b+c a
c+a b| APFUSE LSa3n

a+b c

a-b
25. |b-a
c—a

3

(A a®+bd+c

(B) 3abc
(C) a+b®+c®=3abe

(D) a%+b%+c3+3abe

26.

&JDdJ %m%d %Oﬁﬁ';b (xlj Yl): (xzr yz)

DR (x5, y3) ©NS. & PR Dyesdr K’

2

X1 N1 4
BO0 BRINTITT [x9  yo 4] I B3
X3 ys 4
A) 32k?
(B) 16k?
(C) 64k*
(D) 48k°

27. A 20T 3 x 3 BONeT
IRFERBTNTT, |5A| =

then |5AI =
(A) 5|A] (A) 5|A]
(B) 125|A| (B) 125|A|
(©) 25(|A] ©) 25|A|
(D) 15|A| D) 15|A|
Space for Rough Work / .08 Gv:ig g
Maths (10-A)
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28. If / =
1+kxx = if -1<x<0

if -1<x<0 |28. fx)=
o 2x +1

fix) = - if 0<x<1
2x +1 ” | S |
S 0<x<1 UESR) x = 0 IQ LS s k 3
| 2S00
is continuous at x = 0, then the value of k
is
) A k=1
A) k=1
B) k=-1
B) k=-1
C) k=0
(C) k=0 i
D) k=2 D) k=2

29. If cosy=xcos(a+y) with cosa#11,|29, cosy=xcos(a+y) @ cosa#t1eszon

gy in=n . - :
t-he_n —— 20 E‘qual to . ﬂ o363
dx . - 3
(A) sin a. :
~ cos*(a+y) il cn:;:i y)
; 2
cos“(a+y)

B o e
(B) = (B) mss ,-:_l : y)
0 =

sin?(a +y) © ——
sin“(a +y)
D) cos®(a +y) :
cosa cos“(a+y)
02 cosa

Space for Rough Work / .88 io:!ﬁ* A
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30. If f(x) = |cos x —sin x|, then f’(g] is [ 30. f(x) = |cos x —sin x| &smrif’(%} S W33
| éqﬁﬁ] iu ?

1
AN ¢ i A
(A) —-% (1.+‘/§) v 2(1+ i

m)%u+ﬁ1 m)%u+ﬁ)

w)_%ufJa - ©) —%u-ﬁd

1
@ 3 a-8) D) %(145)

31. If}?'= JK+JX+ IK+“"WI then %= 31. y= ‘JK+\/K+1;JX+."W ﬂmﬂ% =

(A) 1
v2 -1 (A) = )
1
B r
) 2y +1 (B) L
2y +1
(©) ?1
¥ - | @ 2
ye -1
1
D) ——
2y -1. 1
D e
(D) 2y -1
Space for Rough Work / 2,083 Goﬁg A
Maths (12~ A)
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log, x s s log, x +  x#1
32. If fix)=4 x-1 is 82. flx)={x-1 SUBNF x = 1
k e x=1 Lk o m=1
continuous at x = 1, then the value of k is Eft‘i?_ﬂ eaazgﬁ{mhdaﬂ, k S e3eg3o3w
o S &) e ®) 1

33. Approximate change in the volume V of a 83. PIFPoTT WOT x Qe Hﬁd% O 3%
cube of side x metres caused by increasing £mzsﬁ03 3738 PITOT V  ROROEID

the side by 3% is (approximate) WBVSEBOID

(A) 0-09 x°m3 -
(A) 0-09x°m

B) 008 x°m* . %
(B) 003 x"m

(C) 0-06x°m> s¥ia
(C) 006 x"m

D) 0-04x°m® g
(D) 004 x"m

X
84. The maximum value of (1] is

X 34, [l] 3 Ro tised»

X

(A) e
(A) e

B) ¢°
(B) e°

(c) EUE
(C) EU'E

1)V
(D) (—} 1 e
e (D) (-]

Space for Rough Work / %8¢ S8 3¢
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85. flx)=x" has stationary point at

(A z=e B)ixe =
e
D) x=+e

C) x=1

35.

fix) =x*3 RO WOTY
(A) x=e (B) x=_—1-
e

C) x=1 D) x=.e

36. x+ 1%+ (y-~3%=64 FIBO womd
36. The maximum area of a rectangle 80633&3352{ e:&od@er&&mﬁ, ¢ ©oed
inscribed in the circle ﬁﬁi’%@&ft@?d)
x+1)%4+(y-37%=64 is
(A) 64 sq. units (A) 64 sq. units
(B) 72 sq. units (B) 172 sq. units
C) 128 sq. uni '
Q) £9. Usise (C) 128 sq. units
(D) 8 sq. units
(D) 8 sq. units
317. J. L — dx is equal to 37. I 1 & QT3 ReeNTS
l+e 1+e* 8
p. 4 X
(A) luge{e +1]+c (A) logé{e +1] e
e e
o X
®) 1oga("’ 1] e B) 1nge(e = IJ e
e e
©) 1 . ol
og +c
Ne® 41 e e* +1 &
D) log,| & $
g, 1 +C (D) log, e +c
Space for Rough Work / %083 Gvﬁi g
Maths (14 - A)
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38. .[ 4 dx iaéqualto
J3 - 6x —9x2

. ._.1[3K+1\
sin
2 )

(A) +cC

(B)

+C

: _1[311 +1)
sin
6

1 . 1(3x+1
(C) 3sm [—H.z _]+c

Eiﬁ._l(Zx + 1) &
3

(D)

al to

38. I 1 ax o@d s

|3 - 6x — 9x?
( p

(A) sin} éx+1- +c
N 2 /
A

(B) ai11‘1(31+1 +c
L &

TR 3x+1‘)

C) = +c

© 3 sin [ .

(D) sin‘l[zx3+1]+c

39. J.e“inx.[sinx+1]‘dﬁ'isequ
sec X ' :
39. Ieﬂi“.[a‘n“l]dxameiom
. sec X
(A) sinx.e®™*4¢ '
(A) sinx.e®™*+c
B LePRE :
S ; (B) cosx.e™*4+c
(C’) 'BSinI"f'ﬂ (C) Esillx_l_c ‘
(D) X (sinx+1)+c D) e X(sinx+1)+c
2 =
40. J‘ |x cos mx | dx is equal to .40. I | x cos nx| dx =
_9 -2
8 4
4 = &
@a 8 ® = @ - ® -
2 1 ©c) 2 @
(C) = (D) = 3
T n
Space for Rough Work / 2,082 '?vﬁ% Eind
Maths (15 - A)
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41.

1/2
' dx

42, J. is equal to
4 (1+1v:“"3t\"1—:x2

is equal to

1

I dx
e %

0

(A) E —tan"1(e)

B) tanl(e)- =
()an(e)4

(C) tanl(e)+ %

(D) tanl(e)

(A)

B) 2 tan! [—3-J

J2 J2
v2 . (3
o) <
© 2 tan sz
F
@ Y2 ian -—EJ
2 "2

The area of the region bounded by the
curve y = cos X between x = 0 and x = n is
(B) 4 sq. units

(A). 1 sq. unit
(C) 2 sq. units

(A) — tan

®B) -2 tan_l[
(C) [

(D)

y = cos X ﬁﬁde&j, X = 0, x = © NYT

SR TR JTEBT DYCRFD)
(A) 1sq.unit - (B) 4sq. units
(C) 2 8q. units (D) 3 sq. units.

Space for Rough Work / 2,883 Sorg B¢
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44,

The area bounded by the line y = x, x-axis

44, y=x?¢’d@t‘3f&3,x—@§,x=-—1 d)égx:Z

and ordinates x =-1andx=21s o3 &,%3@5 PONT DY e
3
=L @
5 5
B 2 ® 3
(C) 2 © 2
D) 3 (D) 3
45. The degree and the order of the -
2 2 d?y dy
differential equation d_g = :#1 +[d_y) 45. P ] = %1 +(E] SEUUC IRV (olola
dx dx
respectively are BRReD FoF BN N
(A) 2R3
(A) 2and3
(B) 332
B) 3and2
(B) 3an © 2582
(D) 3and3
46. xT _ y - 3, B =803 IeITOI
46. The solution of the differential equation dx .
x% — y = 3 represents a family of TP BOEOOW
- -
(A) straight lines (A)  RO¥ Desdnisd
(B) circles (B) %gﬁ’*b
(C) parabolas (C) ToSOODTI
(D) ellipses (D) &QePs %gr{%b
Space for Rough Work / WO #Dﬁ% B
Maths (17 -A)
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47. The integrating factor of %i—- +y= 14y
x

is
(A) xe*

(B) xe'®

©)

(D)

o R
If |laxb|“+|a.b|*=144 and
» A —»
| a | =4, then the valueof | b | is

@ 1 B) 2

(C) 3 (D) 4

- —.
If a and b are mutually perpendicular

unit vectors, then

49.

—> —> - —
(3 a +2 b).(SH. -0 b):

47,

49.

E}:+}r=1+y

dx X .
BTN PORBIETD)

RT3 BTN

(A) xe*

(B) xel/

©). -
X

-
a

—3 :
. b % =144 IR
Eﬁmﬁ|?| S ¥eSodw

B) 2

(D) 4

4 BB b WIS wow 03

308RwEs, 3a +2Db).5a —68) =

(A) 5
(A) 5
B) 3
(B) 3
C) 6
(C) 6
12
D) 12 (D)
Space for Rough Work / 2.0t s;m; i
Maths (18 = A)

gcollegedunias

T



5 AA A A A A
50. If the vectors ai +j+k, i+bj+k

b A A .
and i+ j+ck are coplanar

(@a#b#c#1), then the value of
abc—(a+b+c¢)=

50.

A

?+?+k, 3 b?+1; R
1+ 5 +ck 3030 wode
_ﬁaiﬁvd@mqad @azb#czl)
abc—(a+b+c¢)=

(A) 2 (A) 2
C) 0
© o
M -1
D) -1
—> A A A —> A A A
A R A A = 2 A AlBL a=i+Akj+2k; b=pi+ j-k
ol. ¥ =i+ Aj+ 2k; b=pi+ j—-k - . -
— Bl 8 oot AOBATNR, | a| = | b| oGS
are orthogonal and | a| = | b | then
O, p) = 5 (A, w) =
i I ¢ s 68 Wil
Ay | s ¥
& [4’ 4] " (4’ 4]
R
(B) [—, —] [1 1]
4’ 4 (B) 7T
1 9
4 4 =
o (1.9
: -1 9
® (33 o (9
4’ 4
Space for Rough Work / .08 Guﬁ% b
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52. The image of the point (1, 6, 3) in the line 59, X

L.
1

(A)
(B)
©

(D)

53. The angle between the lines 2x = 3y = — z

y;l = 3;2 is
(1,0, 7)
(7,0,1)
2,7,0)
(-1,-6,-3)

and 6x=-~y=-4z is

(A)
(B)
(®)

(D)

Uﬂ
45°
90°

30°

1

(B)
(C)
(D)

(A)
(B)
(C)
(D)

Yl N=24

(A)

2

WOTIRD LOW)

ta, 0.0

(7,0, 1)

(2,7,0)
(-1,-6,-3)

0°
45°
90°
30°

BesBobd, (1, 6, 3)

53. 2x=3y=-2z DA 6x=-y=—4z 3B
SRONT BRI

54. The value of k such that the line |54 2x—dy+z=7 ARBOT e

x-4 y-2 z-k

lies on the plane

X—4 y-2 =z-

k .
5 Beadodn famgaﬂ

1 1 2 Ll
2x—4y+z=17 is k S B3e3odn
A) -7 A) —7
D) 7 (D) 7
Space for Rough Work / 2,083 30:!:!% Xg#
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55. The locus representedby xy +yz=0is |[585. xy+yz=0 @éaﬁﬁaﬁ TR TEAPROJHTD

(A) a pair of perpendicular lines (A)  wor e wow Besdnsd

(B) ha pair of parallel lines (B) 2000 2203 330030 Besdnsd
(C) a pair of parallel planes (€) 208 ¥R IB70IT FZZNED
(D) a pair of perpendicular planes (D) 20T B3 0w TXOBONLD

56. The feasible region of an LPP is shown in | 56. 33T LPP 03 eawe’ u3e3=83),
the figure. If 2z = 3x + 9y, then the ZReORTONG. z = 3x + 9y 03V dﬁbf&

 minimum Value ﬂfz occurs at ﬁé@@tmoam ESJDC'bﬁ)

>» X
>x
A (5,5) A G5
(B) (0,10) (B) (0, 10)
©) (0,20) © (0,20
D) (15, 15)

(D) (15, 15)

Space for Rough Work / 2,080 3053* L
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57. For the LPP; maximise z = x + 4y subject
to the constraints x + 2y < 2, x + 2y > 8,

B7. z=x+4y ""-‘il X+2y <2, x+2y =8,
x, y =2 0 dwogdnen zﬁad&.gdoé’ ﬂ@a&

e Revazen

Sl T A 2, =4

(B) 2y, =8 B) =z.,.=8

(C) .z, =16 ©) 2z, =16

(D) Has no feasible solution ) ~draecr Anamsor sthphe

(D) None of the above

(D) 0eHT ARJTH e

58. For the probability distribution given by |58 230%™  ToydRecdBodR)  $¢nIo3
BNENT
X =x.
e 0 : 2 X=x, [ 0 1 2
25 5 1
P, 25 5 1 25 5 1
P o e 53 el
36 18 36 ; e 5 5
the standard deviation (o) is TN BRTT BB (6) 030
1
A = 1
3 Ay« 2
(A) e
1[5
iy 209
3V2 (B) 115
3V2
5
(&) —
36 @ Jo
36

Maths
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59.

A bag contains 17 tickets numbered from
1 to 17. A ticket is drawn at random, then
another ticket is drawn without replacing
the first one. The probability that both
the tickets may show even numbers is

@
(B) 1—*??-
(©) %
(D) %

A flashlight has 10 batteries out of which
4 are dead. If 3 batteries are selected
without replacement and tested, then the
probability that all 3 are dead is

59. tom> weond, 1 008 17 RoaneRd

BROQTT 17 weednsh 9k, BT wodd
WeedodI),  cInggaen  3ndd,  Sezs
RInceolde Weed WO dde  VBEIe
Wedodds), Briodennd. “TBEP  edetsoDd
AR NTR0, EedRT BoymRecddZo30

(A) 314
® -
©) %
D) %

woTd  WB DT 10 wWEONGRY,
BRODW  LPINYY, 4 Jermwones
WRIONTT), WM 3 WRONT),
SOIB[REB TOCFATIN & AT 2IEOND

- ABeF BN RogwneodH3
1
AY
@ 3 Ry =
30
2
8 (B) 3
1 1
9 = T
1
1 (D) —
N — 1
(D) 10 0
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18-04-2018 | neds =. 2.30 003 3.50 3 =

nox woEned | iy ¥=P L0 RWLE NOF W=P
60 80 DTN ' 70 do=NH

Ra::‘.:g 2943 ﬁoaﬂaobdgl w800

SRR
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2, /00 ﬁatﬂazmdﬁﬁcd =] gﬁi Tafon, A 28 Yo ur F030, word =W, 2.30 €T To3C LRBLRHYD.

3. DR ReAnT YFHIIoD D) L.20.HT. KWIT TboDh JRFY' Boer’ wodde BT, MTRAERT,

4. I3, wIfod JdAFT Bee DB & Mosdohd), TWIY GrersSY 308 wichded,

5. L.oo.uor, v030 JZFod dYRns MO e deer Jb SRcudes.

Ao PN

L L.20.60°. @030 TIFoDY SWOFTNDT 00N SRIFW, IFEPOD / FWSPEROD / WeRTIOE.
2. SHhedde S . 2.40 § THIZ. VYHITAR,

e I3 JIfoD worRREIHT ree” e, Sfobenonb.

* I3 I evrid OOT TPNYRY, Seeded YobhdFeRTm.

* L2040, o030 TSEAHY evIDIED TWHOHXDTD.
H%@Fﬂﬂl msﬂ ZRuRn

L =¥, D8P iy 60 IFroch, I3 JInRe 4 wEd soly wISHD AN,

2. =heode dof woul . 2400 Fo3T TP, [3Foh WURRCYHT eo” I B TP, VIPohY cIPYHe UMW BOFTNQTe
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3. S0OF 70 ATNYY
* T3 FFobA, 2uddoon LO.

* T3 TPob YR SoithT Toey wE sodod WIoAYY WooIRT LITII, woly SNa.
*  TY FIPFDYI TIA oDOETNDS X0 GwIT[, L.o0.8T. WWIT FFohY v TDH oWod BB IADT HoLOPAT
TP, VD oI I Toowed WO TONOLF JIOT WoTREE IOLVTHTD.

RNR®o00® OO0 OO

@ ® ©0Oleeod @6

4. 8 L.oooD. wIU TIFOLW, W TRWT W I0T WIY Zeg TN Ay OO, IXT mROIRIT. Siolelels)
L2050, 030 FIFoRY WIOHTN HYPLE [lok. !

T3, WPy douiodmd wpY WSS, O duxg svzcdeena. L.o0.sTr. K030 BFoD, QWE, evTodpeNXLed.

gesod tof wodd . 3.50 BT Fo¥T WILRFT, VY. X, oB@H, BYOY HDBID, AROS WAGY 8.

L0080, WD TGFoR, $UE HePULON bRy SoRY e@D.

L ¥plote] ﬁawpnum Sena TP, zﬁﬁeih (32 =8) 33, IITY [WRBROB FYDOD HFITEOD, (ogHFod

T2) ogdrnen Fobo IPUIPTIRN =HIA deodeohey de@Ed.

9. ©0ET TIFoH IJPOJ, 2.0 JAF PO WTUIZTN 3.

0. 838 oFBod IIAYY IOMWT GPRFASR IECY OIHADT JIAY Wi HTTAR RNoBeBITY  qoNew
eT3ch TBTIBoDD, FeeBED.
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